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?*770'<1/0 7/7<30;4 E*,/7BJ;I '< .,;031+':' H*1*03<1* μ = (α, β) / T FH31/'./)37F
8'9 H' t H1*,'9 )*7<RI�

x′ =
(
A0 + (α − α0)A11(t) + (β − β0)A12(t)

)
x + a(x, t, α, β), x ∈ RN . (1)

S'('A/04 )<' H1*,*B )*7<R +3H131=,+* H' t / +3H131=,+' ./DD313+C/1;30* H' x
/ μ  8*A.'3 +*)*(R+'3 ;7(',/3 x(t0) = x0 '.+'E+*)+' E*.*3< 13T3+/3 x(t) ;1*,+3+/B
UOV4 'H13.3(3++'3 H1/ ,73G t  a(x, t, μ) 1*,+'031+' H' t / μ ;.',(3<,'1B3< 7''<+'T3+/I
‖a(x, t, μ)‖ = O(‖x‖2) H1/ ‖x‖ → 0.

S1/ /E03+3+// G*1*8<31* ;7<'9)/,'7</ +;(3,':' 13T3+/B , 7/7<303 UOV ,'E0'A+= 1*EF
(/)+=3 ('8*(R+=3 6/D;18*C// , '8137<+'7</ 13T3+/B x ≡ 0. , )*7<+'7</ ,'E0'A+' ,'EF
+/8+',3+/3 +3+;(3,=G T FH31/'./)378/G 13T3+/9 U6/D;18*C/B ,=+;A.3++=G 8'(36*+/9V4
+3+;(3,=G qT FH31/'./)378/G 13T3+/94 q > 1 U6/D;18*C/B 7;6:*10'+/)378/G 8'(36*+/9V
/ .1
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θ ∈ (0, 1], θ 1*C/'+*(R+'4 θ =
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���� μ = μ(ε), ��� ��
� 

��	 ���
�	� ��� �	��
 ������
�� qT  ������������� ��!���� x(t, ε), �����	 μ(ε) → μ0 �

max
t

‖x(t, ε)‖ → 0 ��� ε → 0.

"�������	 ����� e±ig � e∗±ig∗ ����

����� 
��
��� 	�
���� A � 
����������
�����

� ��� 	�
���� A∗ ���

�
�

����� �

���#$�� ����

����	 �������%	 ±2πθi

T
, ��
���&

	���� 
����
' �� ���
��!���� (e, e∗) = (g, g∗) = 1. (e, g∗) = (g, e∗) = 0.
(�����	�

� = detQ, Q = det
[

(χ1, e
∗) (χ2, e

∗)
(χ1, g

∗) (χ2, g
∗)

]
, (2)

���

χ1 =

qT∫
0

[A0x(t) + A11(t)e(t)] dt , χ2 =

qT∫
0

[A0y(t) + A12(t)e(t)] dt ;

e(t) = eA0te, x(t) =

t∫
0

eA0(t−s)A11(s)e(s)ds, y(t) =

t∫
0

eA0(t−s)A12(s)e(s)ds.
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a(x, t, μ) = a2(x, t, μ) + a3(x, t, μ). ��� a2(x, t, μ) �������
 �
����
����� x ������	��� �

a3(x, t, μ) ���
��

��%�
 ���
��!���# ‖a3(x, t, μ)‖ = O(‖x‖3) � ��� ‖x‖ → 0 ��
��	����

�� t � μ.
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�
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� ��������� μ(ε) = (α(ε), β(ε)) ���
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x(t, ε) = εe(t) + ε2e1(t) + o(ε2), α(ε) = α0 + εα1 + o(ε), β(ε) = β0 + εβ1 + o(ε).

����' e(t) = eA0te. e1(t) - ��!���� ������ .�!�

x′ = A0x +
(
α1A11(t) + β1A12(t)

)
e(t) + a2

(
e(t), t, μ0

)
x(0) = e1

}
,

���

e1 = Γ0v2 , α1 = Jα(v2), β1 = Jβ(v2), v2 = eA0qT

∫ qT

0
e−A0ta2(e(t), t, μ0) dt;

Γ0 / ����

�#$�� 
 RN �����
��0

Γ0v2 = Jα(v2)e + Jβ(v2)g + (I − eA0qT )−1
(
v2 + Jα(v2)x(t) + Jβ(v2)y(t)

)
,

��� Jα(v2) � Jβ(v2) �������%#
�% �� ��
���

�
(
Jα(v2),Jβ(v2)

)T =−Q−1
(
(v2, e

∗), (v2, g
∗)
)T ;
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±2πθi

T
� B0 = A0−D0 � Q(t) = e−D0t

(
α1A11(t)+β1A12(t)

)
+a′2x

(
e(t), t, μ0)

)
eD0t � ������	
��

��� � qT �

�����	
���� 
� t �������� ��
 a′2x(x, t, μ) � ������� ����� �
������������

a2(x, t, μ).
����� S � 
��������� �������� �����
��������� ���
�����

qT∫
0

e−B0τSeB0τdτ =

qT∫
0

e−B0τQ(τ)eB0τdτ.

��� ��	�� 	
�
 λ
(1)
1 � λ

(1)
2 ������
��!
  ��	
��� ������! P0SP0.

" 
 � � 
 � � #$ ����� λ
(1)
1 < 0 � λ

(1)
2 < 0 � �	
�� 
�� ���� ����� ε > 0 �������������

������� x(t, ε), �	��������� 
�� ���	���� ��	���� 1, ���	� ���� !��� "� �	�� �� 	��	

��  ���� λ
(1)
1 , λ

(1)
2 �������� 
	�	"��������# �	 $�� ������� 
�� ���� ����� ε > 0
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